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QUESTION: 55 
Which three enterprise architecture frameworks are supported by Rational System 
Architect? (Select three.) 

A. NAF 
B. TAFIM 
C. MODAF 
D. DoDAF 
E. AGATE 

Answer: A, C, D 

QUESTION: 56 
Which two System Architect functions can be used to copy selected diagrams 
and/or data definitions from one project encyclopedia into another? (Select two.) 

A. Data Import 
B. File Export/Import 
C. Encyclopedia Merge 
D. Encyclopedia Extract 
E. Encyclopedia Transfer 

Answer: C, D 

QUESTION: 57
 
Which Connection Object is used to connect data objects with flow objects? 


A. Text Flow 
B. Association 
C. Text Connector 
D. Sequence Flow 

Answer: B 

QUESTION: 58
 
What is the purpose of a Business Process Diagram?
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A. to model in an unambiguous and easily understood fashion the business logic of
the enterprise
B. to graphically model the goals and objectives carried out by a business process
C. to represent the decomposition of business processes in a hierarchical manner
D. to represent the relationships and dependencies between different entities that
execute a business process

Answer: A 

QUESTION: 59
 
Which statement is true about the use of Sequence Flows withinSwimlanes? 

A. Sequence Flows connect symbols within a pool.
B. Sequence Flows connect symbols in different pools.
C. Sequence Flows connect multiple pools in a logical sequence.
D. Sequence Flows represent communication between lanes within a pool.

Answer: A 

QUESTION: 60 
Which two benefits are provided by modeling the enterprise architecture of an 
organization? (Select two.) 

A. It resolves conflicts with different processes.
B. It identifies gaps and overlaps among IT assets.
C. It determines the objectives and goals of the organization.
D. It shows the extent to which the enterprise is aligned with its strategy.

Answer: B, D 

QUESTION: 61
 
What does the following symbol represent?
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A. Pool
B. Group
C. Data Object
D. Text Annotation

Answer: B 

QUESTION: 62 
What is the purpose of the tabs/buttons located at the bottom of the Encyclopedia 
Explorer window? 

A. to change the properties of diagrams and objects in diagrams
B. to display different views of diagrams listed in the Explorer window
C. to provide links to the different symbols a user can place on a diagram
D. to restrict the diagram and definition types that a user can view and create

Answer: D 

QUESTION: 63
 
Which statement is true about a Timer Event Stereotype? 

A. Timer events typically flow into link events.
B. Timer Events are dependent on other events.
C. Timer events cannot end a business process.
D. Timer events are usually associated with rule events.

Answer: C 
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